JCP spring isolator installation guide

ﬁ%\_ﬂ ’ EEWUL%%%Z@%U?E*%%%IEEE °

Before installation, make sure the model and the specification

are correct.

S AR

i
allp

2

Installation guide

FRETH . 2#I0%K17mm (M10) HORF - M TFFIE -
Required tools: 17mm (M10) open wrench and claw jack.
e OETHEERPREGRSEHENERNENREELERE @ BL&KxKE - (WE]L)
Place the wooden panel with the same height as the mounts on the installation location before
installing (Fig 1).
« REERMERERBNIERZEMAE - (WE2)
Place the mounts on the correct installation location (Fig 2).
s FTHERBERREEGREERIMERELE L - (WE3)
Fasten the mounts with foundation bolt on the ground (Fig 3).
« DIMIOBEEB#EREERERBERE @ BHEE - (NE4)

Slightly lock the mounts and the equipment with M10 fixed bolt (Fig 4).

HITIEEMI10
Assembly hex nut HER
M10 spring lid
- ——
Stainless steel net
galvanized iron base
EREEfell
Foundation holes

BB M Refer to the reverse side for the illustration. J.S5.C. Scientific Controls Co., Ltd. c



JCP spring isolator installation guide

o ERAMNTHIERERE MZEEREHED - LB EREE
=] NE - (WES)

Apply claw jack to remove the wooden panel underneath
the equipment to press down the mounts (Fig 5).
« FMIOBEIEBREEEHEXHEHE - BB ZLZRAE - (WEO6)
After the adjustment, lock the equipment with M10 fixed bolt (Fig 6).
s ZREBRFHEBESZ NEE  ZRTNBIZEERSEESRRSImm  BPEREBRAGE Z2RE - WA
NEEFAE -
After the adjustment, check the press amount of the spring. If it appears with insufficient loading,
please replace with bigger loading by contacting our staff.
« ZRIF FARLE -

Be cautious during the installation.

! Jiiy

~

Y
»‘; :g(
16

o

| 9ave
%%
0553 -

R RIS Y

000002020 20200 200 1 O
ooqpoqpqggg
RRSES :

o 3

0909
9050 %% % %0704

N — |/> At AR S AR ImmE RS
B %

(2 v > EERALE -
= If the height of the mounts is below 51mm

after the installation, please replace with

another model.

XREMBIER SAHZREEBERRIGHE RmREEERLENRNEES NEBEEELER -
Maintenance checking points: remain fixed bolt locked, balance of the base, installation of the isolator,

and the deflection of the spring every month.

BB M Refer to the reverse side for the illustration. J.S5.C. Scientific Controls Co., Ltd. e



JCP spring isolator illustration

EBll)Z &R ERoTHERERESREESE 2
S¥ N=

Fig 1) Place the wooden panel with the same
height as the mounts at the installation

before installing.

E2) RiEtEmEARBRELKNEER °
Fig 2) Place the mounts on the correct

Installation location.

—

e
—

S—2
e

s

B3) FHRERRE& MI0EE B EERE
ERR M EERE - -
Fig 3) Fasten the mounts with foundation

bolt and M10 fixed bolt on the ground.

xr 15

E1EEHE Refer to the reverse side for the illustration.

J.S.C. Screntific Controls Co., Ltd. e



JCP spring isolator illustration

o
&__r/ E4) FAMI1O0E E R A% 5 fr B i = g s A 8
I o
S Fig 4) Slightly lock the mounts and the
= T} . . .
| ' equipment with M10 fixed bolt.
o
@
= 4.
< 7 L

E5) RN TRt b 2R A EE /‘/\.“\
IEiGEEE=E NE - | —

Fig 5) Apply claw jack to remove the

wooden panel underneath the equipment

\
.‘ )

to press down the mounts.

\
1

J

m
|

E6) BETERADEESHEE  BEMRE
mR Tt -

Fig 6) After the adjustment, lock the

equipment with the fixed bolt.

J.S.C. Screntific Controls Co., Ltd. e





